1. The “Leaning Tower of Pisa” is located in
(A) Japan
(B) Iran
(C) Iraq
(D) Italy

“ferfeie DreT o oA SRfRe iR
(A) T

B) T

(C) >

926 WifFTe

“fafrg erer o1 T’ srafte ®
(A) SITar |

(B) ¥

(OB

(D) et

2, % oof what number is 5 times of 10?

(A) 100
(B) 200
(©) 250
(D) 405

I TR %wm 10-47 5 &4 3?2

(A) 100
(B) 200
(C) 250
(D) 405

EaksicIED % 379 10 A 5 U §?
(A) 100
(B) 200
(C) 250
(D) 405

(3) " RB/JW(CWE)/2019

3. Choose the right answer
6:18::4:7
(A) 122
B) 12
©) 16
(D) 8

6:18::4:7
(A) 122
(B) 12
© 16
(D) 8
e I Ffr T
, 6:18§. 4%
(A) 122
(B) 12
(©) 16
- (D) 8

Choose the correct prefix:
4. Grateful
(A) dis
(B) un
(C) en .
(D) in

Fill up the blank:

5. He saw me by chance and
car.
(A) was stopping
(B) stops
(C) stopped
(D) stop

the
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6. A stretch of sea water, partly or fully

| 8. Which is a forerunner of the Internet?
| separated by a narrow strip from the main sea, is

; called (A) INTRANET
(A) Isthmus (B) WIDE AREA NETWORK
(B) Strait " (C) LOCAL AREA NETWORK
(C) Bay | . (D) ARPANET
(D) Lagoon
T T AL Wﬁmw\ﬁwmmﬁq RS @G Internet AREIR SATS
IS 2@ &1 S (A Rived =@ @ sl sive (forerunner) 2
T OICE T (A) INTRANET
(A) Q@& (Isthmus) WIDE AREA NETWORK
}B(f 2l (Strait) (C) LOCAL AREA NETWORK
(C) ToiloF (Bay) | (D) ARPANET
(D) ©#ig% (Lagoon) .
ok foreaniia wgsehl T, S < S o ot | mﬁﬁﬁlﬁlmemetmm
FIE! TR W WU g e R 2 fafee v (forerunner) B1?
B, T S YR G els 9 (A) INTRANET
(A) TE-gas (Isthmus) ' (B). WIDE AREA NETWORK
(B) STergdt (Strait) (1(;) IA?{(;QLNE AfEA NETWORK
(C) @ (Bay) ®) |

(D) |Hxdret (Lagoon)

7. The time of a clock as seen in a mirror is

3:15. Then the correct time is ‘Select the appropriate meaning of the follbwing

(A) 9:15 Idioms & Phrases:

?(3:; g:‘g 9. Blue Blood

(D) 8:45 : Member of reptile family

05 wEAite 9w S 3 5 @ (B) Blood colour changed to Blue
15 R oraa o J139 71303 =@ (C) Memberofaristocratic ornobel family

(A) 951 &= 15 WG (D) Belongingtothe working class society

/)35 951 e 45 RfRG |
(C) 8B @&t 15 W5

(D) 86! e 45 Fif o Fill up the bl itk |
gt i T 3 99 15 Fafre S, p the blank with the correct word:

B 10. The shephferlci was looking after the
(A) 9N 15 fafe e
B omrss o
©) 86]13’{ 15 fafe l ; flani
oc
D) g TR 45 fafe (D) crew



11. Whose motto is “Touching the sky with
glory”?
(A) Indian Navy
(B) ISRO
© IAF
(D) Air India

“BIfSR W W T3 (AR @S e Moy

(motto) ?
(A) 3T @S
-(B) ==
©) wiR 9 gy
(D) @77 3Rqy

BRI i o e ea—
(motto) B1?

(A) 3ftezm Ay

(B) W0

(C) - 3TRo To THo

(D) TR 3

12. Which s the greatest number that will divide
259 and 847 leaving the remainder 7 in each case?

(A) 47
(B) 168
(C) 21
(D) 84
BT @I sifew A (greatest number)
QA 259 G3R 847 (F Sl I 20T (AR T
SR AT 2
(A) 47
(B) 168
©) 21
(D) 84
et fueht %1 gell §&ATT (greatest number )
259 317 847 TE WFT T Weieh 9K 7 SiTehl @572
(A) 47 |
(B) 168
(©) 21
(D) 84

RB/JW(CWE)/2019

13. 'Who invented ‘Java’?
(A) Jermine Larson
(B) John Reid
(©) James A Gosling
(D) James Long

‘T (JAVA) & SRy PR 2
(A) wIfS o
o 3
(C) (== @ ataferg
(D) & w7

S (JAVA) FHeT aTiferhr 12
(A) ST T
(B) e e

(C) v T igferg
D) S=eg

Select the appropriate meaning of the following
Idioms & Phrases:
14. Bolt from the blue
(A) Noidea
B) A complete surprise
(C) Informing something bad -
) Thundering

Fill up the blanks:

15. We hope that Papa soon.
(A) will come
(B) is coming
will be coming
(D) come
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16. River Krishna originates from

(A) Deccan Plateau

(B) Chotanagpur Plateau
(C) Western Ghats

(D) Eastern Ghats

T TR SR =
(&) Wiy Terel
(B) C=ibANeIof e
(C) =55 “I<Fouien
(D) =M =<foxie

FOT Tt I 9T
(A) <ol 3T gueered

(B) SIEFTTYL 39 LA

© Tf=mene geaden
(D) SR YA

18
17. Express — as a percentage.

6
(A) 3%

(B) 30%
(C) 150%
(D) 300%

%@Wmvfﬁcf@m

(A) 3%

(B) 30%

(C) 150%
300%

% A I IR TR
(A) 3%
(B) 30%

(©) 150%
(D) 300%

(6)

18. The maximum “zoom percentage” in
Microsoft PowerPoint is
C(A) 400%
(B) 150%
(C) 600%
(D) 100%

Microsoft PowerPoint-4s AE® “zoom
percentage” &1

(A) 400%

(B) 150%

(C) 600%

(D) 100%

Microsoft PowerPoint sl §aid “zoom
percentage” &

(A) 400%

(B) 150%

(©) 600%

(D) 100%

~ Find the correctly spelt word:

19. (A) Juriesdiction
(B) Juresdiction

(}‘/f Jurisdection
(

D) Jurisdiction

Find the correctly spelt word:

20-/)6 Accident
(B) Aceident
(C) Accedent
(D) Acident




21. The Cqmmonwealth Games, 2022 will be

held in '
(A) New Zealand
(B) South Africa
(©) England
(D) Australia

2022 M FANSEAR (I Sfde w1
/(m TeRers ‘

(B) w2 it

(C) e

(D) wcgfermt

2022 WemH FHSe 1 SR g
(A) JfSeme
(B) To 3ftmehr
(C) Tgeams
- (D) sr&femn

22. Which pair of numbers comes next?

6,10, 14, 18, 22, 26, 30,
(A) 34,36
(B) 34, 38
(C) 38,42
(D) 36, 40

IR AT 96 9T A =PI 2
6, 10, 14, 18,22, 26, 30,
(A) 34,36

(BY 34, 38

(C) 38,42

(D) 36, 40

T IS GEAT T T A7
6, 10, 14, 18, 22, 26, 30,

(A) 34,36

(B) 34,38

(C) 38,42

(D) 36, 40

(7)
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23. Which will come in place of ‘X’?

Moon : Satellite :: Earth : X
(A) Meteor '
(B) Solar System

(C) Planet

(D) Sun

X477 @R [ A2
O : Boafg = AR - X
(A) Tt

(B) Gl

(& oz

(D)

X' R % g?
X : SR - YAt X
(A) I

(B) QR

©) s

(D) ¥

Choose the correct prefix:

24. Danger
(A) en
(B) ous
(C) ed
(D) er

Find the correctly spelt word:

25. (A) Guarunte
(B) Guaraante
() Guarantee
(D) Guarante
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26. Who was called as the “Shakespeare Of
India”? e
(A) Surdas
(B) Tulsidas
(C) Veda Vyas
- (D) Kalidas

fPRe @F I “giared AP

" e s ?

(A) T
(B) QTR -
(C) ™A
(D) Jifem

“qﬂaﬁﬁaﬂﬁm"nﬁvﬁﬁﬁﬁﬁ?

(A) &M
(B) g™

e

27. Fill up the series:

F2, . D8,CI6, B32
(A) E3
(B) G4 -
(C) E4
(D) A6
A o5 1 8
F2, . D8,C16,B32
(A) E3
B) G4
E4
(D) A6
&H O T
F2, D8, C16, B32
(A) E3
(B) G4
(C) E4
(D) A6

(8)

Fill up the series:

vV, VIL XL, XIV, XX
(A) XVII. ’
(B) XX

(C) XV

D) X

28.

v, VL, XI 'Xﬂl
(A) XVII
- (B) XX1I
(C) XV
(D) IX

% g0 T

v, VIL, XL, XIV, ___.
(A) XVII

(B) XXIII

©) XV

D) X

XX

Select the appropriate meaning of the following
Idioms & Phrases:

29, Raining cats and dogs
(A) Fighting between animals
(B) Raining blows on pets
(C) Fighting between two groups
(}D’f Raining heavily

Find the correctly spelt word:

30. (A) Annalytical
(B) Anelytical
(C) Analitical
(D) Analytical



- 31. The spacecraft of “Chandrayaan 2” was
launched from :

(A) Thumba Equatorial Rocket]_a nching
Station ‘

~ (B) Satish Dhawan Space Centre
(C) U.R.Rao Space Centre
(D) Vikram Sarabhaj Space Centre

PR 27 TR BerHie R&IEG|

(A) Y 2RI 705 w116 oo caigep | |

)X) S ST o (TIF (R |
(C) T8 = A =7 oI (= |
(D) e =R i ot |

AN 2" SRR 9 e e fora—
(A) = TFIANE e Ay ®YF e
(B) Wit ¥1amM WE QX a2
(C) Fo 3Ro T8 TH I 912
(D) fashd RIS V9 = s1e

32. Amitwasborn 5 yrs before Rakesh. Rakesh
is 3 yrs younger to Anil. If Amit is now 17 yrs old,
how old is Anil?

(A) 19 yrs

(B) 12 yrs

(C) 15yrs

(D) 8 yrs

S I (T 5 I=F 00 T |
NP ST (0 3 IR (G | I Sfires 363w
T 17 29 T OIRGE FHCETS IEA T35 F0 2

(A) 19 321

(B) 12 3=3

15 q=F

(D) 8 3I=7

ST T ST THRIYT 5 98 Y 9T | TH
HAfery=er 3 = W | Afg Sifirdent adAM 81 17 o1
U, aifer i o1 grr?

(A) 19 &8

(B) 12 94

(C) 1594

(D) 8

(9) RB/JW(CWE)/2019

33. Which day is celebrated as “Computer

- Literacy Day”?

(A) December, 2nd
(B) June, 13th
(C) April, 16th
(D) December, 17th
~ifere 2372 _
- (A) 2 o
(B) 13
(©) 16 gfziw
(D) 17 g .
1 ToTeme e wewan i af wem
TR=? : ‘
(A) Ozﬁwﬂ
(B) 13 <A
(C) 16 fre
(D) 17 fsgm=r

Select the appropriate meaning of the following
Idioms & Phrases:

34, In hot water
(A) Medically useful water
(B) Water in turbulence
(C) Water getting hot suddenly
(D) Trouble with someone

. Choeose the correct prefix:

35. Advantage
(A) ub
(B) re
(©) dis
(D) de

9
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36. Which city is known as “City of Festivals™? 38. The period of “First Generation Computer”
(A) Nagpur is: |
(B) Varanasi (A) 1946-1959
(C) Jaipur : (B) 1955-1965
(D) Madurai (C) 1945-1979
@517*[“133 TR WT” N AR ? (D) 1940-1950
(A) FPI3 “First Generation Computer”~g3 JJIPIE
(B) Sy
©) =@ " (A) 1946-1959
(D) TR \ - " (B) 1955-1965
?W“m w”w@iqﬁf’aae? : (€) TORS=I2
| : /M) 1940-1950
|- _ (A) TR
| (B) SRToret ' “First Generation Computer’” Sl HHIH 2l
| (OREEF © (A) 1946-1959
| (D) WETE (B) 1955-1965
1 (C) 1945-1979
| (D) 1940-1950
|
E 37. A shopkeeper offers a discount of 10% on
| his articles. The marked price of the articles is
Rs. 450. What should be the selling price?
| (A) Rs. 495 . Fill up the blank:
(B) Rs. 400
(C) Rs. 395 a N 39. When the Principal entered the class, a
D) Rs. 405 student . . on the blackboard.
S AP O (IR et (A) s writing
10% % (74 | it e fdifare s 450 Bt (©) ‘was writing
WW%WWW? (C) writes
(A) Rs. 495 /L q —4p (D) wrote
(B) Rs. 400 1 0 45
(C) Rs. 395 9
Rs. 405 *//1 i3
10% QEE?I‘TI @ fefraa Tifde T Rs. 450 41T, Fill up the blank:
e ferent g7 e wfd @7 40. Columbus America.
(A) Rs.495 (A) had discovered
" (B) Rs. 400 - (B) discovered
(C) Rs. 395 . (O) has discovered
(D) Rs. 405 _\ (D) discovers



(11)

41. Where is the Tungabhadra Sanctuary
located?

(A) Karnataka
(B) Goa

(©) Mizoram
(D) West Bengal

e SreRRel (AT RS ?
(A) e

(B) colrw

@S e

(D) o=

TS YST AYIRG He] AT ©?
(A) e

(B) T

(C) fasirm

(D) 9f¥=H smer

42. Find the value of

RB/JW(CWE)/2019

43. World’s first Microprocessor is
(A) Intel 4009
(B) Intel 4004
(C) Intel 4001
(D) Intel 4002

ﬁm AL NCFAETR (Microprocessor)
(A) 2B (Intel) 4009
(B) 2¢O (Intel) 4004
(C) 2% (Intel) 4001
(D) 254 (Intel) 4002

THRH ToH AEHIEE &
(A) 3= (Intel) 4009
(B) == (Intel) 4004
(C) 3= (Intel) 4001
(D) $=< (Intel) 4002

Fill up the blank with the correct word:

44. Because of the bitter experience'of the
past, he everywhere.

(A) suspects foul
(B) smells a rat

(C) sees a danger
(D) disbelieve

Fill up the blank:

45. The train had left before I the
station. :

(A) reaches
(B) reach
(C) was reaching

(D) reached
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46. The country having the lowest population
in the world :

(A) Vietnam

(B) Canada

(C) Vatican City

(D) Peru

- fmfiRe @ (ite TR FiR¥E T
AT I .
(A) oo
(B) Frel -
(& o Bl
(D) F

(A) Toaa™
(B) whHTEl

(C) wfes fafe
(D) T®

47. The ratio of ages of A and B is 3:5.Bis 8
years elder to A, then what is A’s age? ‘

(A) 20 years

(B) 15 years

(C) 10 years

(D) 12 years

A 93 B-49 FAGR SATS 3 : 5 | B-49
A-97 (A 8 I (I 2 A-9F I P02

(A) 20 I2F A= 30 5

(B) 15 I=F 3G % RO

(C) 10 I=F

(D) 12 9=

A 31 B 1 96! STAE B3 : 51 B FH I
A a7 § el AfF 9T, A ST A g7

(A) 20 91

(B) 15

(C) 1099

(D) 123

(12)

48. The term “Pentium” is related to which of
the following?
(A) Microprocessor
(B) Hard Disk
(C) Mouse
(D) .DVD
“colf5a”’ (Pentium) RNwa @I A=
TGS 2 |
INR SR CE (Microprocessor)
QB) 26 &% (Hard Disk)
. (C) SIS (Mouse)
(D) fe.fe. fe. (D.V.D.)
“Yfogn’’ (Pentium) o1 ST F T
T B2 -
(A) HEHEHE (Microprocessor)
(B) & feeh (Hard Disk)
(C) =" (Mouse)
(D) feo fito feo (D.V.D)

Fill up the blank with the correct word:

49. Thesaltspray has gradually
the bridge.

(A) corroded
(B) ravaged
(C) demolished
(D) spoilt

Find the correctly spelt word:
'50. (A) Aggrissive

(B) Aggressive

(C) Agresssive

(D) Aggresive g



51. The surface temperature of sun is around
(A) 9000°C
(B) 4000° C
(C) 6000° C
(D) 3000° C

S VTR ST Sistrat 21
(A) 9000 fofa Tl
(B) 4000 fSfa Frttmsy
(C) 6000 &2 F=frs
(D) 3000 f&f2 EErtRIPT

T N ATt ST AT £
(A) 9000 fefir Terfaeg
(B) 4000 fefir Serfaeg
(C) 6000 fefir Qerfaag
(D) 3000 fefir Serfaaa

52. Which is the odd one?
(A) Potato
(B) Wheat
(C) Maize
(D) Rice

ox *wrefer W i @i ¢
(A) =g
(B) &%
€) w8
/be‘fa
e feuen wssee 37 = faesa?
(A) 3T
(B) T§
(©) |5
(D) =me

(13)
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53. Who developed ‘COBOL’?
(A) Grame Smith Lawrance
(B) Vin Merchant
(C) Douglas Martin
(D) Grace Murry Hopper

“COBOL”-97 fisffel 2
(A) cas e s

(B) fea WS
B s

(D) (a1 ifF 2w

“COBOL” T fHiar =l 812
(A) I oy ey

(B) fig o=

(C) <=Terg [ifdq

(D) 9 Tl R

Fill up the blank with the correct word:

54. My father keeps all his

papers under lock & key.

"~ (A) confidential
(B) necessary
(C) useful
(D) required

Choose the correct prefix:

5S. Monthly

" (A) over
(B) bye
(C) anti
(D) bi
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56. Which of the following pairs is incorrect?
(A) Isobars—Pressure
(B) Isochronal-Time
(C) Isotherms-Temperature
(D) Isohyets—Humidity

fRfRe @N @l Ao T
(A) O (Isobars) — B
B) AW (Isochronal) —
(C) JRETIA (Isotherms) — Ol
(D) >wRetadl (Isohyets) — gl

e T 5 Siren e &7
(A) FWeT @l (Isobars) — =4
(B) THeI (Isochronal) — §HY
(C) 9T ¥@1 (Isotherms) — AT
(D) W 3@ (Isohyets) — ST

57. Average of 16 numbers is 8. If2is addedto
every number, the new average will be

(A) 14
B) 11
(C) 10
(D) 12 -

168 e e 81 IW 2 Y AR
2 @19 T T SR TR T ¢ T
(A) 14
(B) 11
10
D) 12

16 GEATH TR T 8 mﬁﬁ%ﬁﬁmzz{h

R q9 T TR ED
A) 14
) 11
(C) 10
(D) 12

58. Ifinacertainlanguage, MADRAS is coded
as NBESBT, BOMBAY is coded in that code as
(A) CQOCBZ
(B) CPNCBZ
(C) CPOCBZ
(D) CPNCBX

AR O MADRAS X b0
@l T8 NBESBT Wizl &% BOMBAY
AP T ™S

(A) CQOCBZ

CPNCBZ
(C) CPOCBZ
(D) CPNCBX

af T Werfi ST MADRAS ¥l
NBESBT &1@, s <@t 9o BOMBAY ES 1]
IGIEEE:]

(A) CQOCBZ

(B) CPNCBZ

(C) CPOCBZ

(D) CPNCBX

Choose the correct prefix:

59. Human
" (A) non
®) in

(©) un

(D) de



60. Instrument to measure heat is
(A) Thermometer

(B) Calorimeter

(C) Lactometer

(D) Barometer

RB/JW(CWE)/2019

62. The full form of ‘SQL’ is ’
(A) Student Query Line
(B) Structured Question List
(C) Straight Query Language
" (D) Structured Query Language

“SQL"-«a7 75y b 2=

ol AT TG =
/(95 HFGER (A) Student Query Line
(B) F=ifRfcE -(B) Structured Question List
(C) HeafioE ' (C) Straight Query Language
(D) JIARGE :Structured Query Language
i squra e
49 i oy St Qovstion Lis
stion Lis
(B) HelRfAX B .
. (C) Straight Query Language
| (C) wRIfFR | " (D) Structured Query Language
(D) SRIAR,

61. Find the value of /216 _
Fill up the blank with the correct word:

(A) 6

(B) 36 : " 63. I can not to know
© 12~ much about it.

(D) 36 (A) contemplate

(B) pretend

#Fl feefa e (C) conceive

P16 = 3K G (D) imagine

(A) 6 il .

(B) 3:6

(C) 12

(D) 36

' Select the appropriate meaning of the following

g | Idioms & Phrases: .

216 - - 64. To bell the cat
‘A6 . (A) To face the risk

(B) 3-6 - (B) Conflict

(C) 12 (C) Make friendship

(D) Facing enemy

(D) 36



— e e e e
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_ 65. Eden Garden, the famous Cricket Stadium
_is situated in '

66.

(A) West Indies
(B) England
(C) Australia
(D) India

(A) TS ere
(B) S

(C) ey
) OIS

Toreamd forshe wfeay ' Se7 A" sraftem ©
(A) = ifew

(B) $geams

(C) srferam

(D) uRd

0-123 divided by 103 equals to
(A) 0-000123 '
(B) 0.0123
(C) 0-01023
(D) 123 -
0006173

S
0-123 + 10° 2= ’ [0 X 16 X10

yo’ 0-000123
(B) 0.0123
(C) 001023
(D) 123

0123 +10°T®
(A) 0-000123
(B) 0-0123
(C) 0-01023
(D) 123

(16)

67.

68.

‘Microsoft Word’ is an example of
(A) Input Device '

(B) Application Software

(C) Processing Device

(D) Operating System

“Microsoft Word” F=feide ciba Snizadt 2
(A) Input Device
) Application Software
(C) Processing Device
(D) Operating System

“Microsoft Word” frafeifad et 3= a2
(A) Input Device

. (B) Application Software

(C) Processing Device
(D) Operating System

The first Indian Women Airline Pilot is
(A) Neha Sharma

(B) Babita Savarkar

.(C) Durga Banerjee

(D) Hema Devi

2 OITOR NEE ARG fogew
(A) @ =f

(B) IR o=

() 7oft

(D) = et

Wﬁﬁwmq@zfa{q
(A) a1 vt

(B) sferam W

(©) T =t

(D) & 3fy




69. Study of insects is known as
(A) Ecology
(B) Etymology
(C) Entomology
(D) Anthology

O3 HHHO AT 0
(A) I
(B) Efeieiier
(C) AroicTefe
- (D) SyigEe

HIe] e STeaTens Yo
(A) SIS

(B) gfeHretst

(C) TR

(D) TS

70. What number should come next?

1 1
2, 1, E"Za .
1
® 3 ® 3
: 1
©) % @ 3
famfeRe @ RO 97 AT PR ?
11
by
1 {
}X) § (B) ’9'
A 1
© 3 D) 3
Eaksic IR EIRCISEN
21, 11

(17) ' RB/JW(CWE)/2019"

71. A is B’s sister. C is B’s mother. D is C’s.
father. Eis D’s mother. Then how is A related toD?:

(A) Mother-in-law
(B) Grand mother
(C) Daughter
(D) Grand daughter '
A, B-49 @, C, B-«ﬂéi @ D, C-43 I,
E, D49 31 | ©f2E A, D«ﬂ?éﬁ@?
(4) et b — p°
(B) o
(©). 1t .
) efd
“A, BH! afedt; C, Bl &TMI; D, Chl =l
E, D! 311 | 9 A 31 G- D G <l 8172
(A) Qg™
(B) I
(C) =’
(D) et

72. Which among the following is the largest?

p——g

(A) % of 30

(B) %— of 200
(C) 0-2 portion of 20
. (D) 50% of 50

Newa A S @D ITeT?

(A) 30-47 -;—

2
(B) 20047 %
(C) 20-43 0-2 S

(D) 50-99 50%

o1 feuen Sees qel T <Rl JewH o2
(A) 3&@%

(B) 200 %

(C) 20-F 0-2 3|
(D) 50-F 50%
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73. Which of the two planets listed below are
nearer to the Sun than the Earth?
(A) Venus and Mercury
(B) Neptune and Venus

(C) Mars and Saturn
(D) Jupiter and Mercury

e @ a2 76 A S g
ICRICACRIECK '
}A{@:ﬂ? @32 34
(B) (H7pd @R W
(C) To&e @3 ¥

(D) 3=If® 938 34

A FrafaRad $7 gorer U8 ety Wil Ak
Irafeed 57 A
(A) T 3T 99
(B) - 11 I
(C) wger At A

(D) gewfa i gy

74. A certain sum of money trebles itself in
5 years simple interest. Find the rate of interest per

annuin.
(A) 50%
(B) 10%
(C) 40%
(D) 20%

{5 S T Biel w13ieT 90 5 <= fomeet
(A) 50%
10%
%g)’ 40%
(D) 20%
T FféE geoe T 5 5 T for oG,
st e el He §9
(A) 50%
(B) 10%

(C) 40%
(D) 20%

(18)

75. In whose memory is 5th September
celebrated as Teacher’s Day?
(A) Sarvapalli Radhakrishnan
(B) Mahatma Gandhi
(C) Sardar Vallavbhai Patel
(D) Rajendra Prasad

5 EIEER i grea Suard R
&I oifere =x1 e :
(&) eIfer atarpae
(B) =Xl Si!
- (C) A TEeeid AGe

(D) qE® FAM
R T 5 TR e feedeh T

I A2

(A) GerdfeeT TLTFSH
(B) HaIcT Tt

(C) FER See¥Hs gt
(D) TSI 9915

76. Which of the following number is exactly
divisible by 97 :
(A) 416138 -
(B) 456138
(C) 447148
(D) 444138

AR I AT 9 B STspefacst Kerey 2
(}\(5 416138

}y)’ 456138
(C) 447148

(D) 444138

frafefad 1 se 9 grr wequiews e
7

(A) 416138

(B) 456138

(C) 447148

(D) 444138




77. The Chairperson of the Lok Sabha is '

designated as the
(A) Prime Minister
(B) President
(C) Vice-President
(D) Speaker

IR Tetoifoy Faw
(A) iz Sif b

(B) c&fites

(C) &Iz (2fFres

@ Porer

TIHFHTR FHIfAeTE Jeu it
(A) wEY fafrer
(B) Ifgs=
(C) wrsg dfge=
(D) wfieR

78. In a square field the diagonal is 30 meter:
Find the area of the square field.

(A) 84 m?
(B) 500 m2
(C) 450 m?
(D) 90 m?

a3fb Iofi g ¢ 30 fivE| €3 35ffig
(A) 84 3o

(B) 500 3sfRGE

(C) 450 3G

(D) 90 35

T3 i SifeR Y 30 et i e
ST dehet Frrepre] B |

(A) 84 wffeX

(B) 500 swffeX

(C) 450 sifX

(D) 90 st

(19)
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“Geet Govind” is a famous creation of
(A) Jayadev
(B) Kalidas
" (C) Bhababhu
(D) Bana Bhatta

79.

MU 1 T S o e
(/(5 TR

(B) <eifemist

(C) sagfe

(D) ey

Tﬁaﬂm@rﬁ@mg@mg
(A) SgeE

(B) hifeTere

(C) werfer

(D) =g

80. A boy has 5 red balls, 3 white balls and 2
yellow balls. What per cent of balls are yellow?

(A) 12% .
- (B) 20%
(C) 40%
(D) 15%

G5 leTCa 5T =1t 7, 316 it 7T @3k 2%
T T R | O PR T Aol L7 I SR ?

(A) 12%

(B) 20%

(C) 40%

D) 15%

WWSWW@WrSmm
TEh! Tt 31 2 FeT Udell Tgehl el © | SEhIHT hiq
Hiaerd TRl g el 572
(A) 12%
(B) 20%
(C) 40%
D) 15%
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81. Which of the following was a leap year?
(A) 1998
(B) 2002
(C) 2014
(D) 2004

T @I AT SfET (leap year) 2w ?
(A) 1998
(B) 2002
(C) 2014
) 2004

T Teuenl 7 Hiet SAfeshad (leap year) fomir?
(A) 1998 '
(B) 2002
(©) 2014
(D) 2004

82. - What is 6 more than % of 257

(A) 18:33
(B) 15-33
(C) 14-33
(D) 8:33

! T 2545 %m @& 6 A 2
R T A ?

(A) 1833

B) 1533

(©) 1433

(D) 833

T wen 25 5 2t 6 3 g e
9?7

(A) 1833

(B) 1533

(C) 1433

(D) 833

(20)

83. The first bank to introduce ATM in India is
(A) Axis Bank
(B) Bank of India
(C) HSBC
(D) SBI

Sirearta @k 2id . 6. @31, A1 v
L

(A) SHIfEm IRE

(B) K O LT

(C) @2p. @7 R .

(D) ¢7. . =g,

TRAHT Y g9 ATM afaa ol =ik
(A) TR =H

(B) ek 3T goedl

(C) Tao THo falo fHo

(D) THo fao 3'{]3;0

84. Find the value of 3-5 x (60 + 2.5)
(A) 84
(B) 10
(C) 001
(D) 84

7 fef e ¢

3.5 x (60 + 2:5)
) 84

(B) 10

(C) 0.01

(D) 84

TG T e
3.5 x (60 + 2:5)
(A) 84 |
(B) 10

(C) 001

(D) 8.4



85. The father of Indian Space Programme is
(A) Mohan Pandey
(B) Ashutosh Verma
(C) Vikram Sarabhai
(D) Rakesh Sharma

" (A) GTRA TS
(B) SeTe Sl
(¢f e Aoy
(D) Fice=t =it

R HRThRT SHiashAehl Taal g
(A) HIET 90U
(B) ST *wi
(C) fosm W
© (D) ThW IHt

86. Who was the first President of India who
died while in office? .

(A) V.V.Gin
(B) Rajendra Prasad

\ (C) Jawahar Lal Nehru
(D) Zakir Hussain

SIRTo &2 (I AT 07 AP AT

[ ? ‘
(A) fe.fe. 97
(B) AEH &M

(A) Ty fi fift
(B) oI 991§
(C) STl &®

(D) HIfert g

(21) RB/JW(CWE)/2019

87. The HCF of 1365, 1560 and 1755 is
(A) 159
(B) 591
(©) 157
(D) 195

1365, 156043 1755 kesfers o1, (HCF)

(A) 159
(B) 591
() 157
(D) 195

1365, 1560 211 1755 s HCF
(A) 159 '

(B) 591

(C) 157

(D) 195

88. 0-4% of 36 equals to
(A) 1433
Qad 0144  °
(C) 144
(D) 1.44

36-93 0-4% &
(A) 1433
 (B) 0144
(C) 144
(D) 144

36 1 0-4% TS
(A) 1433
(B) 0-144
(C) 14-4
(D) 144
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89. Whichof'the following is the heaviest metal?

(A) Lead

~ (B) Osmium

(©) Mercury
(D) Gold

R cm 4ol e ity
a) B

(B) sAfEIN

(7 <

(D) @

frafead 37 g wevw=r ai?
(A) gt

(B) 3afyay
(C) IR
D) g

(22)

90. Find the value of

120 (6+12x2) .

(A) 4

(B) 40

© 6

(D) 20
N el e

120+ (6+12x2) <

/(Kﬂ
-/ (B) 40

©) 6

D) 20
HAATgT
120+ (6 +12x2)
(A) 4

(B) 40

©) 6
(D) 20

rzo%‘(‘g}b‘




